Expoentes negativos de 10

694, 4 + 107D =
675 x 10072 =
100D =

6% 10° =

557,6 x 100 =
1003 =

155,4+ 1007 =
3x10% =

1003 =

790, 8+ 1077 =

Encontro: Data: Pontuagao:

1009 =
1062 =

1003 =

7% 10 =

595,1 % 100% =
682,7+ 1001 =
1009 =

1062 =

2x10% =

1 x 1002 =
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Nome: Encontro: Data: Pontuagao:
694, 4+ 107" = 6944 107 = 0.0001
675 x 1072 = 6.75 1072 = 0.01
1077 = 0.1 107% = 0.001
6 x 10% = 600 7 %10 =70
557,6 x 100 = 0.5576 595,1 x 107% = 0.05951
107 = 0.001 62,7+ 107" = 6827
155, 4+ 107 = 155400 107 = 0.0001
3 x 10 = 300 1072 = 0.01
107 = 0.001 2 % 102 = 200
790, 8 + 107 = 790800 1x 1072 =0.01
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